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You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
Do any necessary rough work in this booklet.
When you have chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
Use an ordinary pencil only.
Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three-figure Candidate's Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep the sheet as clean as possible and do not fold it.
For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer.
On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
S: Which one of the following components of blood is involved in clotting after an injury?
A. Whiteblood cells.
B. Redblood cells.
C. Plasma.
D. Platelets.
The correctanswer is D.
On the answer sheet:
tA1 (B1 cC1 oo tA1 tB1cC1 D1 tA1 tB1cC1 D1 tAr tB1:C1 D1 Y tA1 tB1cCa tDs
In the set of boxes numbered 5, the box with the letter D printed in it is marked.
Yourdark line MUST be within the box.
For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 8 printed pages.
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following are functions of the nose
exeept one. Which one ig it?

Trapping moisture

Fntr:nuga dust

. Warming the air

- Moistening the air

Which one of the following is not an
insectivorous plant?
A. Butterwort B.
a:. Efmez"cun

Tl
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»:j MW e
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Venus fly trap
r} Bladderwort

¢ following processes take place during
lation. Which one does not?

. \01 ume increases in the lungs

. Pressure increases in the lungs

i The diaphragm flattens

The ribs move upwards

9\ hich one of the following pairs form th
%A' o of a germinating bean seed?

- Cotyledon and microphyle
Pl

o]
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H;l 1 and testa

Plumule and radicle ,_
Cotyledon and endosperm
The chart below show classifi
plants.

Ui“‘»wwﬂ:

Monocots (8S)
~Flowering {_Dicots (R)

— Green

Plants

Non- flowcrmg (Q)
L_Non-green (P)

Which one of the following shows a
summary of examples in each case as shown
above?

P ) R s
A. Mushroom Moss Peas  Sorghum
B. Fern Puff balls Lichen  Maize
C. Moss Cedar Maize  Beans
D. Algae Mushroom Beans Rice

cation of
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9,

following is not 4

Which one of the
requirement for germination?

A. Soil B. Water

. Alr D. Warmth

The process of digestion of food start in
the ~ and ends in the
. mouth, anus

. small intestine, large intestine

. mouth, rectum

. mouth, ileum

Ths illustration below shows to experiment
set-up by Grade Six pupils to investigate
the rise of water in soils.
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When the experiment was left to stay
overnight, the results were as shown above.
From the observation, which of the
following statements can be true? ‘)ml
mmp!
A. X is the for modelling
B. Y cannot make the longest ribbons
C. Z has the best drainage
D. Y has larger air spaces than soil

sample X
A child well known to be suffering from
anaemia will show all the 10“0\\}11‘1;‘ signs
and *,ympmms except. ‘
A. pot belly
B. heart hedts rapidly
C. pale and whitish palms and fingernails
D. feeling weak and lack of energy




10, Which one of the following shows the largest
and the brightest planets?
A ?\iuuu} and Satarn
R Jupiter and Venus
" Neptune and \qu ury

t‘ Pluto and Fart
Pl Which one of the ¢ u\lmxii‘ag statements about
artenies and veins is incorrect?
AL Arteries have thick clastic walls
B Al ein

cmcarry blood away from

he heart
C. Vems have valves

. Arteries are located deep inside the
MERCICS
12, W e ot the h“lm\mv 18 the liquid
part of blood?
AL Plasm B. Red blood cells
. White bl od cells D, Platele(s
13, One of 3 Hm\mﬂ IS not an internal

ok parasit
A. Tapeworm

. Which one?
B. Liver fluke
D. Ringworm

Pl ™ 3 . poo
L A0UNAwWorm

Phe dmfmm bet’ow shows an experiment done

by Grade y ¢ pupnils. Use itro answ ?FGZ{ESfI()f?
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14, This experiment was most likely set up
to demonstrate the fact that
A. alr has weight B. air exerts pressure
C. water contains air D, air occupies space
15. Some curative drugs are also called
.:"‘-... pain relievers I}, antibiotics
D sumulants

To. Which one of the following is not a good

. vaccines

way of maintaining tools?

A. Cleaning and dryine them

B. Sharpening cutting ec tpes

C. Keeping tools outside for fresh air
D. Oiling and greasing tonls

17. Which one of the following methods of
orazing is not rotational?
A Stall feeding B. Strip grazing
[ethering Uﬂ Pdddf)'(,} ing
18. Which onc of the following is he
reproductive organ of a plant?
A. Stem B. Flower
lLeaf 1. Roots
19, « hmh(' the incorrect statement amo
following about matter.
A. Solids have d'“ﬂinit“ volume
B. Liquids have definit
C. Gases have (Wflm%f: mass
D. Solids have definite shape
20. The following are
should know his or her HIV status
one 1s not? To
A. enable him or her to take necessnrm
precautions
B. minimise the spread of HIV
C. plan for the future
D. enable him or her to seek early m=di
freatment
21. Which one of the following shows 112 1 jer
components of the environmen:t?
A. Plant, animals, light, seund
B. Soil, water, plams, afifials
C. Air, water, light, plants
D. Buildings, light, sound. heat

e shape

reasons as to

The diagram below shows componenrs of air
as found in the atimospitere in relative AINOUnLs.
Study it and answer question 22;

-
NS

\ 7
e % =

- Which one of thr: JE;O\
needed by plants
photosynthesis?
AP
CoR

23, Which one ot'the ol

A Pig weed
C. \’\»’undering jew

29 r
L ¢ parts shows the ai

during the process of

B.Q
D. 8
owing weeds is edible?
B. Sodom apple
D. Black Jack
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30.

Apparent
position

of the coin
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When tWo stones of different sizes are
dropped from the samec hejght at the same
time, what happens? T
A. They reach the ground at the same time
B. The bigger stone falls faster '
C. The smaller stone falls faster

)f They collide and refuse to fall
tracom s immersed into a basin with clear
water, 1t appears raised to a heigh :

than the bottom of the basin. Thit happens

as a result of',

| 934 “
C};l"o%mun of
the eye

- . .
- = = |——Basin with
clean water

Coin
A. reflection of light B. refraction of light
C. dispersion of light D. diffusion of lights
Study the food chain below. The arrow
points to the eater.

Grass=—Grasshoppers— Frogs—>Snakes

From the food chain, which of the above is
a producer?
£ Grass B. Grasshoppers

C. Frogs D. Snakes

Which one of the following drugs is a
stimulant when taken in small quantities but
depressant when taken in large amounts?
A. Bhang B. Khat

C. Cigarette D. Alcohol

Which one of the following methods of food
preservation takes effect by reducing or
absorbing water from the food?

A. Canning B. Refrigeration

C. Using honey D. Salting

Which one of the following immunisable
diseases is not controlled by administering
a D.P.T vaccine?

A. Diptheria B. Polio

C. Whooping cough D. Tetanus

31. Different types of tecth are used for
different functions. The type of tooth shown
below is used for

( P,
‘\\
N__/ A grinding
;‘)'};‘?? / B. tearing
|/ C. cutting
\/ D. chewing

The following are myths and o
misconceptions about HIV/AIDS. Which
one is not”

A. AIDS has no cuie

B. HIV carriers are always thin

C. HIV/AIDS is a curse

D. HIV/AIDS victims are sexually active
The following are effects of abusing drugs;

& d
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(i) Truancy

(ii}) Lack of concentration
(iii) Withdrawal symptoms
(iv) Rape

(v} Addiction
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Which one of the above are social eftects?
A, 1and ii B. 111 and iv
C.1and v D. 1, iv and v

34, Which one of the following foodstuffs will
provide the body with the energy required
to perform manual work?

A. Lemon, pumpkins and sweet potatoes

B. Ugali, beans and sukumawiki

C. Chapati, roasted maize and cooked
bananas

D. Chapati, chicken and pineapple juice

35, Clothes can take the shortest time to dr
when the weather is o
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36. Which one of the following processes take

place at point X?
¥ SO“dm»m

M
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Liquid \;Zuid
LN -
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Gas «




f\ Condensation

- Meltn ng
37, \\ ater can he
Which

B Evaporation

D Freezing

used for different functions
¢ ,.;‘;}w f'r“‘ﬂ"‘k\ g cannot be a use

\ '\»x* nnung iR !:?H\‘iwzs.i
C Surfing ] 15»§IAin;‘*
RH ; transter of heat through gases takes
place
A ”u\j‘ n ~"ili'\
1 COMeC 'i-“\ O?Li

Hon xm?
on‘and convection

1s) Yot . .
i below shows classification of
is
Animals
|
Invertebrates
s can further be classified into
as shown above, which one of
g animals will not belong to
B. Reptiles

D. Amphibians

411, of the followi ing emotional

1 to both boys and girls during

Shoulde hroaden
B. Fee ng <h\

tion to the opposite sex

h of pubic hair

of proteins starts in the

B. small intestines
D. liver
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42. Which one of the following livestock
parasites incorrectly matched with its
effect?

Parasite Effect
A. Mites — Damage the skin
B. Roundworms —  Cause swollen belly
C. Fleas — Cause skin irritation

. Tapeworms —  Cause liver bleeding
42 The main reason as to why we apply mulch
on the f‘z&rm Is to
A. make the soil fertile
B. zupress the weeds
C. conserve the soil
[). conserve the water
44, A furmer will find it well to turn materials
114 compost pit in order to
AL allow air circulation
4. mtroduce decomposers
. fix nitrogen n the soil ‘
D slow down the rate of decomposition

that yield rainfall

¢ mountaineous by
Ent)! like round cotton halls ; .
v in colour and are scen high in

grey

A8, (2um —_—
N appearance
ik

(" ar

. f:hrr !aﬂ low in the sky and look like
[cathers _ o
16. A proup of Grade Fiy pupyf
out an experiment where the
ne paper on a leat ¢
own below.

Carmy
black gm;;ihc
erowing plant as sh

™\ Black polythen
' paper
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From the above e,\peunsem the pupils were
likely to conduct an investigation on
A. photosynthesis ~ B. respiration
C. transpiration D. germination

47. Which one of the following crop pests is
correctly maiched with the part of the crep

it attacks?

Pest Part it attacks
A. Weaver bird - Sucks sap on leaves
B. Weevil - Stem
C. Army worm - Leaves
D. Cutworm - Flowers

48. Which one of the following farm animal will
provide us with mutton and dain v milk?
A. Sheep only B. Goat only
C. Cows only D. Sheep and goats

49. The amount of force of gravity acting on a
object is called weight. \?ﬁexoht therefo
can be measured in
A. grams B. kilograms
C. metres D. newtons

50. During the construction of a railway line.
some gaps or open spaces are left between
the crossbars of the bars as shown below.
These gaps are left to

r’f . 3;‘3 ';g : 70;@':}

LS ® | e ;bJ

AL prevent rusting of the metal bars
B. create patterns for beauty

C. allow room for expansion

D. allow room for contraction
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